APPE£S LD

ST UDY COCENTRE
PERCENTAGES TEST

What percent is 15 paise of 2 rupees 70 paise?

a. 42 % b. 52 % g 129 d. 52%
9 9 5 9

2 epumul 70 ewugTaled 15 ewUET 1HHMEN FHAIHLD?

a. 42 % b. 52 % c. 42 % d. 52 %
9 9 2 9

20% of the total number of litres of oil is 40 litres. Find the total
quantity of oil in litres.

a. 400 litres b. 200 litres c. 180 litres d. 150 litres

Qb OameisesdHsd o eten 20% ouemgd 40 LT eTewiGewIUl LG LD.
DIHCBTENHVGHHD 2 66 6TewIOlewTUlS GIOTHS SieTeneUdH SHTUTALD.

a. 400 & b. 200 &9 c. 180 &Vl d. 150 &9

3.5% of an amount is ¥ 54.25. Find the amount.

a. X 1800 b.X 1,750 c.321 d.< 1,550
@ QFHTenduled 3.5% eraiug I 54.25 e1afled, DHOBHTMBHEMUID BHT6IH.
a. X 1800 b. X 1,750 c.321 d.< 1,550

If the price of an article increases from Rs.80 to Rs. 100 then the increase
in percentage is
a-%  b.z% c. 20% d.25%
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R OQummefiler allewev 80 apumuleV(HHEH 100  dHUTULITES &U_IIT.I'_B@@I 67601160
® UITe| FHOIHID

a. %% b. g% c. 20% d. 25%
Find the number which is 35% less than 260.

a.170 b. 169 c. 168 d. 167
260-2 ol 35% (&HOBAUTET 6T6HINETD  HTCNIH.

a. 170 b. 169 c. 168 d. 167

Express 233%% as a fraction

a.21 b.3l c.2l d. 3
3 2 2

W N

233%%% L6OT6OILOT S  LOMTBBIS.

a.2l b.3l c.2l d.3g
3 2 P 3

If x is 80% of y, then what percent of 2x is y?

a.40% b. 6212% c. 66%1% d. 80%
x aaiugl y-60 80% eafled 2x — 6 aISHman FHAIHD Y S
a. 40% b. 62%2% . 66%1% d. 80%

What is seventy four per cent of five-eighths of 1200?

a. 555 b. 565 c. 445 d. 455
120060 74 Fseis@pd g IDLBIG WAL 6TalaleTe)?
a. 555 b. 565 c. 445 d. 455

There are 250 students in a school. 55 students like basketball, 75 students
like football, 63 students like throw ball, while the remaining like cricket,
what percent of students like basketball?

a. 32% b. 42% c.12% d.22%

250 omemieuEeT o 6o @@h  Ueieflulled, D5  IoTemIeUTHeT dmewl 1 LihenHUD
75 1OTeWIaITH6T STEOLHENSUID, 63  TeTalJsHe eISILHESHUD  LESH(LPETeTalTH61T
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10.

11.

12.

13.

SHiflHCBL ewL WD a(HLDLISITB6TT  6Telled FnemL LILIHNS @ﬂ@LbL]Ii_gﬂLBI;'rgN@J.U&ﬁTﬂW
FHANHLD 616316017
a.32% b. 42% c. 12% d. 22%

A man saves Rs. 3,000 per month from his total salary of Rs. 20,000. The
percentage of his saving is

a.5% b. 10% c. 15% d. 20%

g eupomend ep. 20,000 Qupid mUT @HauT @elGeunm WwrHUpD eh. 3,000
o Gallly CFUISHGBTT eefled DieumemLul onghF CaF10I FHauHld

a.5% b. 10% c. 15% d. 20%

A student has to score 30% marks to get through. If he gets 30 marks and
fails by 30 marks, find the maximum marks set for the examination.

a. 200 b. 210 c. 300 d. 190

@ wreelsst Caed Gump 30% HUGLIS6T 6ihoHs Ceuami(hd. Sieuet 30
wHIOUeIBeT  Qump 30  wHUCUemTERITEd  CHTevaluBBT6Er.  DIILIGEUIN6D
LBLOLI[H  HIGILIGTSH6T

a. 200 b. 210 c. 300 d. 190

In an election, one of the two candidates got 30% of the total votes polled,
but he lost by 210 votes. What was the total number of votes polled?

a. 525 b. 700 c. 610 d. 300

2 GCagheled Bewih Geul umenider GumliuilLert. &Fs0 eeuT 30%
FHaipd ams@aeT  Qupm 210  ams@set  elsbHunssHHed  Czpmeval
SIDLHBHTT. DbH CHTHel60 LFHUTET 6UTHG BTG  6T6016001HMNS 616116116167

a. 525 b. 700 c. 610 d. 300

40% of the population of a town are men and 35% are women. If the
number of children are 20000, then the number of men will be :

a. 3200 b. 80000 c. 32000 d. 3,20,000

QRH BEISHT Wwhsel Gpmemsuiey 40% Gur semiset, 35% Gui GuewIHe,
Fpatsefer  eewienidemsd 20,000 eafled, OIHBBTHBH V6N  S60TH6N 60T
6T6U0T60011 6N 6161161161167

a. 3200 b. 80000 c. 32000 d. 3,20,000
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14.

15.

16.

17.

Of the 1000 inhabitants of a town, 60% are males of whom 20% are
literate. If of all the inhabitants, 25% are literate, then what percent of the
females of the town are literate?

a.22.5 b. 275 c.32.5 d. 375

R BEISHST WwhHeneHTens 1000, oiFed 60% oyewider SauTsefso 20%
LYSHHaITHen.  Crhs  éHHeMEOETmaUlsd  25%  LHSHaTHeT  eailed
DIHBBTHHT LgHSH OLemisala FHaisld wingl?

a.22.5 b. 275 c.32.5 d. 375

A’s income is 25% more than B’s income. B’s income in terms of A’s
income is

a.75% b. 80% c. 90% d. 96%

A-ait  ongeupomerd B-gy el 25% oidsb. Bt wre  eugpomend  A-est
QUHLOTRISHFH60 616116166 FHAIHLD?
a.75% b. 80% c. 90% d. 96%

Rohit spends 40% of his salary on food, 20% on house rent, 10% on
entertainment and 10% on conveyance. If his savings at the end of a
month are Rs. 1500, then his monthly salary is:

a. Rs. 6000 b. Rs. 7500 c. Rs. 8000 d. Rs. 10,000
Grmanlld Sleueigdl aUBLTISHHe0 40 FHals OCFTemdmL o eue|bGb, 20
gHels  Osmmsmw LB amLdsdGh 10 FHelsd  OeTomnsemnul
CuTpaBurdasBe  wBpb 10 FHeals OFTws  CuTeHETSHIBESLD
CFevalfasmrT. oeufler  1w1gh  GHFoliy  p.1500 eIelled 1OTH  QUIHLOTEILD
616116)61T6Y] ?

a. Rs. 6000 b. Rs. 7500 c. Rs. 8000 d. Rs. 10,000

A number is decreased by 10% and then increased by 10%. The number
so obtained is 10 less than the original number. What was the original
number?

a. 1000 b. 1050 c. 1500 d. 2000

@ UL eewenflar WAy 10% Gopha Wy 10% oigHer waHiy
SFFMHSHBH. BUOLTIPEH Dieibeueieniel LOHIILTEIEH  (PTL(HHS LOSHILInL
alL 10 &ome| eleled HIGGSBILLNL  6Tewr WTg?

a. 1000 b. 1050 c. 1500 d. 2000
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18.

19.

20.

21.

A batsman scored 110 runs which included 3 boundaries and 8 sixes.
What percent of his total score did he make by running between the
wickets?

a. 45% b. 45 1—51% c. 54 1—61% d. 55%

@@ Hfs6s Gumiguisd @ elewenwim’ B afyf 110 peiser aBHBHTT. SHIFH60
3 ueewiLM&Epd, 8 HdHeaUTHEnd DL MIGD. SaIT 6hHd OCoThHs Jarseiled
P9 IhHDH TAIHN FHATHLD 6161161667

a. 45% b. 45 %% c. 54 1—61% d.55%

Sumit invests Rs.4,762, which is 25% of his monthly income, in insurance
policies. What is his monthly income?

a.Rs. 28,572  b.Rs. 23,810  c. Rs. 19,048 d. Rs. 14,285

F1dlg eretLeT o5.4762-3 &M G CFSHUIGBHIIT. DbH OHTMD GCLOTHS
DTS  QUHLOTETISHHED 25 FHaIHD OCFHTemd eleled, Sleufledl LDTH  U(HLOTEILD
616116)161T6Y] ?

a.Rs. 28,572  b.Rs. 23,810  c. Rs. 19,048 d. Rs. 14,285

The population of a village increases at the rate of 7% every year. If the
present population is 90,000, what will be the population after 2 years?

a. 1,06,039 b. 1,09,533 c. 1,03,041 d. 1,05,072

QRH DITOSHET 16T OHTMD YWOLTIIBIBG 7% s DH &M HE @B
AUOuTIpg  WwEHEHeT  GFTemd 90,000  eTeled 2 eWIBHEHSSGL  LIBG
DIBSITTDGH 6T 1DHH6T CHTnD 6leienelTs B (HHEHLWD?

a. 1,06,039 b. 1,09,533 c.1,03,041 d. 1,05,072

Sunita scored 56 marks in Hindi, 42 marks in Science, 63 marks in Maths,
94 marks in Social Science and 61 marks in English. The maximum marks
of each subject is 110. How much approximate percentage of marks did
she get?

a. 68 b. 51 c. 57 d. 62

GelGT eadilieue 56 WwHlbuemt anibalullevd, 42 waHIGUewT SPiallwed(mbd, 63
HIICUNT SamilgdhHled, 94 LHUOL Feps Splalwedeud, 61 W66
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22.

23.

24.

25.

SRIHSHeID  GuBDTT.  HCHTaledT  @albleu( unL.&,s']ﬂnét}r*)'X¢\@|Q)‘]&5uL&
HIGUeHT 110. £1HCHTalled seflam OUBB WHIGLIEE FHATHHHD SHTENIS.
a. 68 b. 51 c. 57 d. 62

The boys and girls in a village are in the ratio 3 : 2. If 10% of the boys and
25% of the girls are literates, find the percentage of students who are not

literate

a. 80% b. 84% c. 72% d. 60%

QRH HITIDSHH6D DLEWIH6T OBMID OLIEHIH6T 3 : 2 6B aldHHHH6e0 2 6iTere.
BFev  oewiweflsd  10% woBmud  Quewidefled  25%  LIgHBaITHET  eTelleD
Lgliple) @6e060TH LoTewITeS LT FHAlBIFHLD 6r6ten ?

a. 80% b. 84% c. 72% d. 60%

Ravi's salary was decreased by 50% and subsequently increased by 25%.
How much percent does he lose?

a. 12 % b.20% ¢ 37-% d. 50%

gallufesr  ea@und  50% GBSSUULG  aen o Lenguns  25%
® WTGHSLIULLTED 615HHMe FHAMBISHD DT EUDHSHTT?

a. 12> % b.20% o 37-% d. 50%

In an examination A got 25% marks more than B, B got 10% less than C
and C got 25% more than D. If D got 320 marks out of 500, marks
obtained by A were

a. 405 b. 450 c. 360 d. 400

@ Bxialed, Bm ol A 25 smals WHICUGIHNT DISHBOTHL  CUBISIBTT.
Cxm ol B 10 s5ais waliCuamiss @Gopaurst Gumidmprt. Dg el C
25 560l WLFHLCUmIBT DHSOTHI OupSBTT. D OuBs  Ww&HIGLIETISHET
5006@ 320 eedlled, A OUBMB WHLIOLITIHET 615 H6M601?

a. 405 b. 450 c. 360 d. 400

The population of a town is 1,50,000. It increases by 15% in the first year
and decreases by 20% in the second year. What will be the size of the
population at the end of second year?

a. 1,38,000 b. 1,42,500 c. 2,07,000 d. BauBmien e1HIa|LOe0mev
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26.

27.

28.

@R BIIHH WEHH6T CFHTensd 1,50,000. IFHI (PHEO DLEWTIQED 15 FHATHLD
DHFMHB, DTewiLmd Sewiged 20 FHAIHD GHOBHMBHI.  STERILTID HLEWTIQ 6T
WPYaled D&HH6IT OHTEND SI6N6Y 6163160 !

a. 1,38,000 b. 1,42,500 c. 2,07,000 d. none of these

If the numerator of a fraction is increased by 150% and its denominator is

increased by 300%, then the value of the new fraction is 1_58 Find the

original fraction.

a.4/9 b.4/5 c.8/9 d.8/11

@ Ueaasdear smgdwmeas 150% oifefNsasiul G SIsea LGS WTers
300% oiFafadsin G aumb e DS 1_58 oeoflen, OHTLHd  LleGTeid

616016017

a.4/9 b.4/5  c.8/9 d.8/11

Seats for Maths, Physics and Biology are in the ratio of 5 : 7 : 8
respectively. There is a proposal to increase these seats by 40%, 50% and
75% respectively. What will be the respective ratio of increased seat?
a.2:3:4 b.6:7:8 c.6:8:9 d. none of these

SHD, SuIBLlwed BBID o ulflwed SHU  UTLEISEHSSTET B HISH6T
weopGw 5 1 7 : 8 aaip oldssHe0 o _sener. Obs G mkisele
sTewremibendent  (PpempBuwl 40 FHaisd, 50 FHAIHD LBBID 75 FHAIHLD

® WTHHMSBE SHI L ID ® 6iTeNg). oaTUITSHSHUILIL L B1_miseilent
SlliLenL_ulled Bl alSGHD  eTaieaUTs B(HIBHEGHWD?
a.2:3:4 b.6:7:8 c.6:8:9 d. none of these

The number of seats in a cinema hall is increased by 25%. The cost of a
ticket is also increased by 10%. The overall percentage increase in the
revenue is:

a. 10.5% b. 27.5% c. 37.5% d. 40.5%

R  HOIWIRISHH60 2 6l BHIHNBH6IMNT  6T6ewIenNHMNB 25 FHAIHLD
SIFH B HBLILBHBGI. SILHEF  FLBEHBTOT  SLLewi(pd 10  FHaispbd
FsNeaslubaBEH. QLB CTHEH aumHeuTLl DHSALY e1dHHemer FHaiHD?
a. 10.5% b. 27.5% c. 37.5% d. 40.5%
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29.

30.

When the price of rice increases by 10%, a man can get 5kg less rice for
I500. The present cost of the rice per kg is:

a.39 b. 312 c.X10 d.X15
oifidulenr alemev 10 FHaipld DIH&NHGHWLOUTH @H BUITED H.500-5G 5 H&
GoBaTs  ofdemwl  Gup  (WIQULD. sBlurgd  oflduller  alemev  @H
&HBeora h@, 616116667

a.39 b. 312 c.10 d.X15

Given A is 50% larger than C and B is 25% larger than C, then A is what
per cent larger than B?

a. 20% b. 25% c. 50% d. 75%

A a1 iy C ow el 50556l SFHsd wBpid B ulsr waHiy C eul
ol 25 gmaisld SFHab eeiled A e wHIY B ol eelelene FHaisd
SIFHHD?

a. 20% b. 25% c. 50% d. 75%
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